N of associated (recoToSim) looper tracks vs normalized x*

N of associated (recoToSim) tracks vs normalized X?

[N of reco track vs normalized x2 ]

9] 1%} 4] 0
x x < x
Q Q o (5]
g g g 8
[ [} Q
=3 X =
E 1071 81071
o
=]
3
o ] o
K 3 3
o 14 14
cibaedisabasdaiibos l,....i...L..J...L..J...L..J...i... R I I I I R R R T T R T N
02468101214161820 0 2 4 6 8 10 12 14 16 18 20 C02468101214161823 C()2468101214161820
track x2 track x2 track x?

track x2

HoipG

r RSOt Stepe e 20 et
[ Nofreco track vs. 4 ———— Bé B] I‘,‘éﬁelpempp?eosgn al ‘tfjtolzt’o etalp4tolp6

(%] 1%}

x <
o [}
it S
[
2

o o ;

g : IS :

@ . @ .

b : 1 :

0 i — 0. : m




	Contents
	Page 1


